

Calcule cette opération sans la poser.

©laclassedeclara

$$(4 \times 8) + 6 =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$3 + (7 \times 6) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$30 - (5 \times 6) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(60 - 30) + 5 =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(7 \times 4) + 3 =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(6 \times 2) + 8 =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(50 - 20) + 4 =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$70 - (6 \times 3) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$20 + (8 \times 3) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$80 - (4 \times 10) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$40 - (3 \times 8) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(9 \times 6) + 4 =$$

0

45

38

20

31

35

44

52

34

58

16

40

Calcule cette opération sans la poser.

©laclassedeclara

$$(10 + 4) + (4 \times 3) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(5 + 7) + (4 \times 4) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(30 + 6) - (4 \times 3) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(10 \times 5) + (10 \times 9) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(9 + 5) + (6 \times 7) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(3 + 4) + (8 \times 4) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(7 \times 8) - (3 \times 2) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(3 \times 9) - (2 \times 4) =$$

Calcule cette opération sans la poser.

©laclassedeclara

$$(10 \times 8) - (7 \times 5) =$$

24

28

26

39

56

140

45

19

50